ES-10,1

x Z)—7 R—Ib
[ 3t JE st l
Bz £ ES-10-100
1.SHASE-S003R -7 B HEMTF (ZKIMM - FEIFR) D
RIBICERLTRIELTNETS
2. HEREHNKREVDT, ERFPEEREVLBLTE BENT
ER
SHBEDO/NYF OERICEY EHOBENEL, RT - BEHNE
BTY, . BENZAL—XT, ISEBBRICBNTNHET,
4.2)—JRKREICIEEIOLAYFHELTHY . TEMY. THERE
HICBNTHEY,
Hit %
5 b ES-10-100 | ES10200 | ES-11-100 |  ES-11-200
s A &’ #% AR AR H T DIEE RS
@ B E h 1.0MPa | 2.0MPa
R & @m E 220C
= & oM E & 100mm 200mm 100mm 200mm
= (f#020mm #EA80mm) | (#0'40mm ##EA160mm) | (HU20mm #EAB80mm) | (HU'40mm #EdH160mm)
# | F 1 HORE sk BRIR B 0S5 8K or EIEMMAS x
Bz vy - 7 4 (HCr %)
i # JIS 10K RF752% | JIS 20K RF75>¥

¥1 25~100AIFERIR B Eh55IK. 125~ 200AIZFR B S ikor EEMM LADE S,

B-26

a TVUA W\ S —SE - TR



16 ﬁﬁﬁ%ﬂ*$ Expansion Joint

| o RRENMECERm

B ENUEE

ALk

i
©
B L] L
L
@ES-10-100 - ES-11-100 -
s EREHAL = & . X
U BEE: | EARAEX | BRARIES it bo AIATAX AR
¥ 20A 380 400 300 100 110 M12%X 60 4
25A 380 400 300 100 114 M12X 60 4
32A 380 400 300 100 124 M12X 65 4
40A 380 400 300 100 130 M12X 65 6
50A 380 400 300 100 142 M12X 65 6
65A 430 450 350 100 175 M16X 75 6
80A 430 450 350 100 188 M16X 75 6
100A 430 450 350 100 216 M16X 80 8
125A 500 520 420 100 242(270) M16X 80 10
150A 500 520 420 100 290(305) M20X 90 10
200A 500 520 420 100 340(350) M20x 90 12
( )YAOHIEIRES-11-1000ETT,
ST B0B.ES-10-100 20ADEERD LLDET,
@ES-10-200 - ES-11-200 -
s EREHAEL = & . X
HUE WEES | BARAEX | ERRIES iy Do AIATAA —
25A 560 600 400 200 114(125) M12Xx 60 4
32A 560 600 400 200 124(135) M12X 65 4
40A 560 600 400 200 130(140) M12X 65 6
50A 560 600 400 200 142(155) M12X 65 6
65A 600 640 440 200 175(175) M16X 75 6
80A 600 640 440 200 188(200) M16X 75 6
100A 640 680 480 200 216(225) M16X 80 8
125A 640 680 480 200 242(270) M16X 80 10
150A 690 730 530 200 290(305) M20X 90 10
200A 690 730 530 200 340(350) M20%X 90 12

( )AOEIEIRES-11-2000FETT,

m-27




